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R A G 

Reasoning 

Topic: Division 

1. 276 ÷ 12 

2. 416 ÷ 13 

3. 420 ÷ 12 

 

4. 288 ÷ 18 

5. 270 ÷ 15 

6. 336 ÷ 21 

 
Josh has an industrial jar or tomato ketchup. It has 882 ml in it. His job is to put 
it into smaller 18ml sachets. How many can he make? 
 
There are 864 pupils and staff in a school. They all go to visit London on a school 
trip. How many 36 seat coaches do they need to hire? 
 

Consider all three digit numbers formed using 

different digits from 0, 1, 2, 3 and 5. How many of 

these numbers are divisible by 6? 
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